16_wsierp_1 (TMNmpcEDBPbD-
MznLMvoZWngF5YgJzTEBUyyZ)

October 27, 2020

Let vl_zreal 0 : t=0 be given. Let rl_zxreal 0 : t=>t=-0 be given. Let
k6_numbers : ¢ be given. Let k2_zcmplz_0 : t=1=-1 be given. Let k6_rxcmplx 0 :
t=-1=>1 be given. Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(VX2.
(vlareal 0 X2)=(=(rl-zzreal 0 k6_numbers X0)A((—rl_zzreal 0 (1)
X2 X1)A(rlzareal 0 X2 (k6_xemplz 0 X1 X0))))))

Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(VX2.
(vlareal 0 X2)=(=(—-rl_zzreal 0 X0 k6_numbers)A((rl_zzreal 0 (2)
X1 X2)A(rlzxzreal 0 X2 (k6_zemplz 0 X1 X0))))))

Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(vVX2.
(vlareal 0 X2)=((rl_zareal 0 (k2_zcmplz 0 X0 X1) X2)e(rl_zarreal 0
X0 (k6_xemplz 0 X2 X1)))))
(3)

Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(vVX2.
(vlareal-0 X2)=((rl_zareal-0 X0 (k6_xemplz 0 X1 X2))=(rl_zzreal0
X2 (k6_xemplz 0 X1 X0)))))
(4)

Theorem 1

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(VX2.
(vl_zreal 0 X2)=((((rl-zzreal 0 k6_numbers X0)A(-rl_zzreal 0
X1 X2))V((=rlzzreal 0 X0 k6_numbers)A(rl_zxreal 0 X2 X1)))=
((=rlzareal 0 (k2_xemplz 0 X0 X1) X2)A(-rl_xzreal 0 X1 (k6_xcmpla-0
X2 X0))))))



